- Dvorkin, L. I., Dvorkin, O. L. (2007). Stroitelnye materialy iz otkhodov promyshlennosti. Rostov-on-Don: Feniks, 368.
- Chen, M., Blanc, D., Gautier, M., Mehu, J., Gourdon, R. (2013). Environmental and technical assessments of the potential utilization of sewage sludge ashes (SSAs) as secondary raw materials in construction. *Waste Management*, *33* (5), 1268–1275. doi: http:// doi.org/10.1016/j.wasman.2013.01.004
- Kapustin, F. L. (2011). Tekhnologicheskie i ekologicheskie aspekty primeneniia zoly-unosa Reftinskoi GRES pri proizvodstve stroitelnykh materialov. *Tekhnologii betonov*, 7-8, 64–65.
- DBN V.2.6-98:2009. Betonni ta zalizobetonni konstruktsii. Osnovni polozhennia. Available at: https://dbn.co.ua/load/normativy/ dbn/1-1-0-792
- DSTU BV.2.7-176:2008. Budivelni materialy. Sumishi betonni ta beton. Zahalni tekhnichni umovy. Available at: http://gost.at.ua/ _ld/33/3339_dstu-b-v.2.7-17.pdf

Dmytriieva Nina, PhD, Associate Professor, Department of Construction Technology, Odessa State Academy of Civil Engineering and Architecture, Ukraine, ORCID: http://orcid.org/0000-0002-4828-1644, e-mail: dmitrieva.nv76@gmail.com

Agafonova Irina, Senior Lecturer, Department of Civil Engineering and Economics, Bender Polytechnic Branch of Transnistrian State University named after T. G. Shevchenko, Moldova, ORCID: http:// orcid.org/0000-0003-4330-2642, e-mail: barkaririna@bk.ru

Bostan Nina, Senior Lecturer, Department of Civil Engineering and Economics, Bender Polytechnic Branch of Transnistrian State University named after T. G. Shevchenko, Moldova, ORCID: http:// orcid.org/0000-0003-4336-6398, e-mail: boniqa@mail.ru

> UDC 661.531 DOI: 10.15587/2706-5448.2020.214440

Kontsevoy A.,
Kontsevoi S.MODELING OF A TWO-FLOW GAS
PURIFICATION FROM CARBON OXIDES (IV)
BY METHYLDIETHANOLAMINE SOLUTION

The object of research is the stage of purification of process gas of ammonia production with a capacity of 1360-1500 t/day in a two-section plate absorber. The paper substantiates the possibility to replace the monoethanolamine (MEA) absorbent solution with the activated solution of methyl diethanolamine (aMDEA) on the example of the Ukrainian multi-tonnage production, working under the two-flow purification scheme. One of the most problematic areas is the lack of a mathematical model for the absorption of carbon monoxide (IV) by a new absorbent for two-flow purification schemes. In the course of the study, the method of compiling the material balance was used, which takes into account the peculiarities of the interaction of the aMDEA components with CO_2 , and numerical integration to calculate the number of plates.

An algorithm for calculating material and heat balances for finely and roughly regenerated solutions has been developed and implemented in Excel. The algorithm and the program provide for multivariate calculations with varying concentration parameters for gas and solution and their temperature. Thermal calculations take into account the adiabatic heating due to the exothermic absorption reaction and determine the temperature of the solutions at the outlet of each part of the absorber. Analysis of the material balance calculations in comparison with the data on the MEA solution shows a decrease in the solution consumption by 5.5 % when using aMDEA, which will help to reduce the energy costs for pumping and regeneration. By kinetic calculation, the number of plates for the absorber was determined to be 13. With the number of 15 in a standard absorber, the calculated number of plates allows the gas to be purified to a content of $0.01 \% CO_2$. An increase in the temperature of the solutions at the inlet to both sections by 10 degrees does not significantly affect the number of plates. Thus, mathematical modeling of a two-section plate absorber showed a real possibility of replacing an 18 % MEA solution with a 40 % aMDEA solution. It is proposed to implement this on existing equipment without changing the technological scheme.

Keywords: process gas, carbon monoxide (IV), methyldiethanolamine, piperazine, two-section plate absorber, numerical integration.

Received date: 12.05.2020 Accepted date: 24.06.2020 Published date: 31.10.2020 Copyright © 2020, Kontsevoy A., Kontsevoi S. This is an open access article under the CC BY license (http://creativecommons.org/licenses/by/4.0)

1. Introduction

Purification of process gas from carbon monoxide (IV) in the production of ammonia is traditionally carried out by chemisorption methods, first of all, with a solution of monoethanolamine (MEA) or a hot solution of potash K_2CO_3 , activated with diethanolamine. The chemistry of purification by these methods is provided in [1]. Tech-

nological schemes, apparatus designs are considered by the authors of works [2, 3]. A comparative analysis of purification methods is provided in [4, 5].

In the XXI century, a purification method was proposed using a solution of methyldiethanolamine (aMDEA) with a concentration of up to 50 %, activated with piperazine $C_4H_{10}N_2$ (diethylenediamine) with a concentration of up to 5 % [6]. The advantage of MDEA is easy regeneration with a slight decrease in heat consumption, but, accordingly, the depth of absorption worsens. That is why the piperazine activator is used. In addition, MDEA is characterized by lower corrosion rate and solution degradation.

Chem-Engineering Services (USA) has developed a typical single-flow technological scheme for CO₂ removal with an ammonia capacity of 1550 t/day [7]. The Russian company «GazSerf» presented its version of Amines purification with an ammonia capacity of 1000 t/day [8]. In [9], the simulation of single-stream gas purification from CO_2 with aMDEA solution for a packed absorber with an ammonia capacity of 600 t/day is carried out. The undoubted promise of purification process gas with aMDEA solution determines in-depth attention to the calculation aspects when introducing this method, especially for large-scale production. Therefore, it is urgent to develop and implement a mathematical model of precisely two-stream CO_2 absorption. Thus, the object of research is the stage of purification of process gas of ammonia production with a capacity of 1360-1500 t/day in a two-section plate absorber. And the aim of research is to substantiate the possibility of replacing an absorbent solution of monoethanolamine (MEA) with an activated solution of methyldiethanolamine (aMDEA) at multi-tonnage plants operating according to a two-line purification scheme.

2. Methods of research

The algorithm of material and heat balances of purification with MEA solution [10] was revised for corresponding calculations using aMDEA solution and implemented in Excel. In the course of the study, the method of compiling the material balance was used, taking into account the peculiarities of the interaction of the aMDEA components with CO_2 , and numerical integration to calculate the number of plates for the absorber. At the same time, it is taken into account that the two-stream process gas purification provides for the supply of a finely regenerated solution to the upper part of the absorption column and a coarsely regenerated solution to the lower part. The temperature of the solutions at the outlet of each part is determined by adiabatic heating due to the exothermic absorption reaction.

3. Research results and discussion

The output has the following parameters. The absorber operates under pressure P_{abs} =28 atm. The composition of the original aMDEA: MDEA C_{MDEA} =35 % wt., Piperazine C_{PZ} =5 % wt. The carbonization degree of the AMDEA solution: at the entrance to the stage of «fine» purification α_{2B} =0.1; at the exit from the stage α_{2H} =0.35; at the entrance to the stage of «rough» purification α_{1B} =0.35; at the exit α_{1H} =0.67. CO₂ content at the outlet of the absorber $c(CO_2)_2$ =0.01 % vol. The peculiarity of the algorithm is to search for the value of CO₂ concentration at the exit from the stage of «rough» purification $c(CO_2)_1$ equal to 5.65 % vol. This value is selected by material calculation, provided that the flow rates of finely and roughly regenerated solutions are equal to the regenerator-recuperator. The composition of the outlet gas is as follows (Table 1).

The calculation results are shown in Table 2–6, taking into account the physical absorption of gas components in water. A mixture of 549670.82 kg/h of solution after fine

purification and 529653.48 kg/h of coarsely regenerated solution from the regenerator-recuperator enters the stage of «rough» purification. The gas leaving the absorber is wet and contains 465 kg/h of water vapor.

Table 1

euper er f confortor geo per entoror	Output	dry	converted	gas	parameters
--------------------------------------	--------	-----	-----------	-----	------------

Component	nm ³ /h	% w.	kg/h	% wt
H ₂	126978.4	61.64	11301.1	8.34
N2	41097	19.95	51371.3	37.90
CO ₂	35761.6	17.36	70235.8	51.81
CO	1030	0.5	1287.5	0.950
Ar	515	0.25	919.3	0.678
CH_4	618	0.3	441.2	0.326
Total	206000	100	135556.2	100

Analysis of the Tables 4–6 in comparison with similar data on the monoethanolamine solution [10] shows a decrease in the solution consumption by 5.5 % when using aMDEA, which will help to reduce the energy costs for pumping and regeneration. The developed algorithm and its implementation in Excel make it possible to carry out multivariate calculations with varying concentration parameters for gas and solution, and their temperature.

Table 2

Dry gas parameters	; after t	the «	rough»	purification	stage
--------------------	-----------	-------	--------	--------------	-------

Component	m ³ /h	% w.	kg/h	% wt
H ₂	126808.7	70.36	11285.9	13.24
N ₂	41062.7	22.78	51328.3	60.19
CO2	10190.6	5.65	20014.4	23.47
CO	1028.6	0.57	1285.8	1.51
Ar	513.9	0.29	917.4	1.08
CH_4	616.6	0.34	440.3	0.52
Total	180221.1	100.00	85272.1	100.00

Table 3	í
---------	---

D	гу	gas	parameters	after	the	«fine»	purification	stage
---	----	-----	------------	-------	-----	--------	--------------	-------

Component	m ³ /h	% w.	kg/h	% wt
H ₂	126710.0	74.57	11277.2	17.28
N ₂	41042.7	24.15	51303.4	78.62
CO ₂	17.0	0.01	33.4	0.05
CO	1027.8	0.60	1284.7	1.97
Ar	513.3	0.30	916.2	1.40
CH ₄	615.9	0.36	439.7	0.67
Total	169926.7	100.00	65254.6	100.00

Table 4

Consolidated material balance of the purification process according to aMDEA

aMDEA input			aMDEA consumption			
Component	kg/h	%	Component	kg/h	%	
Thinly regenera- ted solution including	529653.5	50.00	aMDEA	409743.3	36.29	
aMDEA	208664.4	39.40	H_2O	614149.9	54.39	
H ₂ O	312996.7	59.09	CO2	105151.1	9.31	
CO2	7992.4	1.51	H ₂	23.9	0.0021	
Thinly regenera- ted solution including	529653.5	50.00	N2	67.9	0.0060	
aMDEA	201078.8	37.96	CO	2.7	0.0002	
H ₂ O	301618.3	56.95	Ar	3.0	0.0003	
CO2	26956.4	5.09	CH_4	1.5	0.0001	
Total	1059306.0	100	Total	1129143.1	100	

Material balance for finely regenerated solution

	aMDE/	A input	aMDEA consumption		
Solution, including	kg/h	%	kg/h	%	
·····g	529653.5	100.00	549670.6	100	
aMDEA	208664.4	39.40	208664.4	37.9617	
H ₂ O	312996.7	59.09	312996.7	56.9426	
C02	7992.4	1.51	27973.3	5.0891	
H ₂	-	-	8.8	0.0016	
N ₂	-	-	24.9	0.0045	
CO	-	-	1.0	0.0002	
Аг	-	-	1.1	0.0002	
CH ₄	-	-	0.6	0.0001	

Table 6

Table 5

Material haland	e for coa	rselv renenei	rated solution	
Trateriar Datant		LOCIY ICHCIIC		

	aMDE/	A input	aMDEA consumption		
Solution, including	kg/h	%	kg/h	%	
	1079324.3	100.00	1129143.1	100	
aMDEA	409743.3	37.96	409743.3	36.29	
H ₂ O	614614.9	56.94	614149.9	54.39	
C02	54929.7	5.09	105151.1	9.31	
H_2	8.8	0.00081	23.8	0.0021	
N2	24.9	0.00231	67.8	0.0060	
CO	1.0	0.00009	2.7	0.0002	
Аг	1.1	0.00010	3.0	0.0003	
CH_4	0.6	0.00005	1.5	0.0001	

The number of theoretical absorber plates is found by numerical integration of the expression:

$$N = \int \frac{dP}{(P - P^*)},$$

where P, P^* – working and equilibrium CO_2 pressure, respectively, Pa.

The upper part of the absorber. Additional output data: based on the results of thermal calculation: the temperature of the aMDEA solution at the inlet to the upper part of the absorber T_1 =318 K, at the outlet T_2 =331.62 K.

The calculation algorithm is given in [10]. The equilibrium CO_2 pressure over the MDEA solution, depending on the degree of carbonization and temperature, is determined by the equation, Pa:

$$P_0^* = 10^3 \cdot e^{(2567 + 3.0495 \ln \alpha - 6395.69/T)}.$$

The decrease in the equilibrium CO_2 pressure over the activated solution of aMDEA in comparison with MDEA is corrected by the correction factor K_{cor} . Its dependence on the carbonization degree α for absorption conditions at a temperature of 50 °C has the form:

$$K_{cor} = -94.167 \cdot \alpha^3 + 131.09 \cdot \alpha^2 - 64.32 \cdot \alpha + 12.998.$$

Equilibrium CO_2 pressure over aMDEA solution taking into account K_{cor} , Pa:

$$P^* = P_0^* / K_{corr}$$

The implementation of the algorithm is presented in Table 7. The number of theoretical plates is 4.41. Taking into account the efficiency of the plate $\eta_p=0.5$, 8.82 plates are required.

Table 7

Determination of the number of theoretical plates of the upper part (fragment)

No.	α	Т	P_{0}^{*}	Kcor	<i>P</i> *	Р	N
0	0.100	318.000	231.317	7.783	29.722	280.000	-
1	0.105	318.272	273.086	7.581	36.024	3440.315	0.928
2	0.110	318.545	320.163	7.384	43.361	6600.631	0.482
3	0.115	318.817	372.986	7.192	51.864	9760.946	0.326
48	0.340	331.074	21373.492	2.582	8277.677	151975.135	0.022
49	0.345	331.346	22704.206	2.544	8925.490	155135.450	0.022
50	0.350	331.619	24101.697	2.507	9613.320	158295.765	0.021
		Nu	mber of theo	retical j	plates		4.41

The lower part of the absorber. Additional output data: according to the results of the thermal calculation, the temperature of the aMDEA solution at the inlet $T_1=324.8$ K, at the outlet $T_2=341.6$ K. The correction factor $K_{\rm cor}$ is higher than the value of the carbonization degree $\alpha=0.47$ is calculated by the equation:

$K_{cor} = -57.501 \cdot \alpha^3 + 85.52 \cdot \alpha^2 - 42.472 \cdot \alpha + 9.0416.$

The number of theoretical plates is 1.935 (Table 8). Taking into account the efficiency of the plate $\eta_p = 0.5$, 3.87 plates are required. The total number of plates in the absorber is ≈ 13 , which is close to the industrial absorber, in which 15 plates are located [11].

Calculations at the temperature of the solutions for irrigation of the upper and lower sections increased by 10 degrees gave the number of plates less than 14. This indicates the possibility of carrying out absorption at slightly elevated temperatures.

TECHNOLOGY AUDIT AND PRODUCTION RESERVES — № 5/3(55), 2020

Determination of the number of theoretical plates of the lower part (fragment)

No.	α	Т	P ₀ *	K _{cor}	P*	Р	N
0	0.350	324.819	16095.93	2.507	6420.10	89600.0	-
1	0.356	325.155	17360.00	2.463	7049.56	97529.6	0.088
2	0.363	325.491	18704.15	2.421	7727.38	105459.2	0.081
3	0.369	325.827	20132.41	2.381	8456.20	113388.8	0.076
48	0.657	340.945	278994.78	1.744	159946.39	470220.8	0.026
49	0.664	341.281	292718.68	1.714	170791.57	478150.4	0.026
50	0.670	341.617	307019.41	1.681	182628.47	481310.7	0.027
Number of theoretical plates							1.935

4. Conclusions

Analysis of material balance calculations in comparison with the data on the MEA solution shows a decrease in the consumption of solutions by 5.5 % when using aMDEA, which will help to reduce energy costs for pumping and regeneration. The number of absorber plates, calculated by numerical integration, corresponds to the parameters of a standard absorber and allows purification the gas to a content of 0.01 % CO₂. An increase in the temperature of the solutions by 10 degrees at the entrance to each section does not significantly affect the number of plates. Thus, the mathematical modeling of a two-section absorber shows a real possibility of replacing an 18 % MEA solution with a 40 % aMDEA solution. This should be implemented on existing equipment and will not require a change in the technological scheme.

References

- Semenova, T. A.; Semenova, T. A. (Ed.) (1977). Ochistka tekhnologicheskikh gazov. Moscow: Khimiia, 488.
- Weiland, R. H., Hatcher, N. A., Nava, J. L. (2010). Post-combustion CO₂ Capture with Amino-Acid Salts: Optimized Gas Treating.

Available at: https://www.protreat.com/files/publications/43/ Manuscript_CO2_Capture_with_Amino_Acids.pdf
3. Yankovskyi, M. A., Demydenko, I. M., Melnykov, B. I., Lo-

- Yankovskyi, M. A., Demydenko, I. M., Melnykov, B. I., Loboiko, O. Ya., Korona, H. M. (2004). *Tekhnolohiia amiaku*. Dnipropetrovsk: UDKhTU, 300.
- Semenov, V. P.; Semenov, V. P. (Ed.) (1985). Proizvodstvo ammiaka. Moscow: Khimiia, 368.
- Rufford, T. E., Smart, S., Watson, G. C. Y., Graham, B. F., Boxall, J., Diniz da Costa, J. C., May, E. F. (2012). The removal of CO₂ and N₂ from natural gas: A review of conventional and emerging process technologies. *Journal of Petroleum Science and Engineering*, 94-95, 123–154. doi: http://doi.org/10.1016/ j.petrol.2012.06.016
- Vakk, E. G., Shuklin, G. V., Leites, I. L. (2011). Poluchenie tekhnologicheskogo gaza dlia proizvodstva ammiaka, metanola, vodoroda i vysshikh uglevodorodov. *Teoreticheskie osnovy, tekhnologiia, katalizatory, oborudovanie, sistemy upravleniia*. Moscow, 480.
- Combs, G., McGuire, L. (2010). MDEA Based CO₂ Removal System Process Simulation. Louisiana. Available at: http://www. chemengservices.com/tech71.html
- Aminovaia ochistka. GazSerf. Available at: http://gazsurf.com/ru/ gazopererabotka/oborudovanie/modelnyj-ryad/item/aminovayaochistka
- Kontsevoi, A. L., Lukianchuk, T. O., Kontsevoi, S. A. (2018). Modeliuvannia ochyshchennia hazu vid oksydu karbonu (IV) rozchynom metyldietanolaminu. *Internauka*, 15 (55), 28–32.
- Kontsevoi, A. L., Kontsevoi, S. A. (2019). Modeliuvannia dvopotokovoho ochyshchennia hazu vid oksydu karbonu (IV) rozchynom monoetanolaminu. Visnyk Cherkaskoho derzhavnoho tekhnolohichnoho universytetu. Seriia: tekhnichni nauky, 3, 68–75.
- Spravochnik azotchika: Fiziko-khimicheskie svoistva gazov i zhidkostei. Proizvodstvo tekhnologicheskikh gazov. Ochistka tekhnologicheskikh gazov. Sintez ammiaka (1986). Moscow: Khimiia, 512.

Kontsevoy Andriy, PhD, Associate Professor, Department of Inorganic Technology, Water Purification and General Chemical Technology, National Technical University of Ukraine «Igor Sikorsky Kyiv Polytechnic Institute», Ukraine, e-mail: kontsev@xtf.kpi.ua, ORCID: http:// orcid.org/0000-0002-1753-416X

Kontsevoi Sergii, PhD, Associate Professor, Department of Inorganic Technology, Water Purification and General Chemical Technology, National Technical University of Ukraine «Igor Sikorsky Kyiv Polytechnic Institute», Ukraine, e-mail: serkon157@ukr.net, ORCID: http://orcid.org/0000-0002-4523-2273